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1. A 5.00% by mass solution of K3PO4 in water has a density of 1.043 g/mL.  Determine the molality, the molarity, and the mole fraction of K3PO4 in the solution.

2. What is the vapor pressure of the solvent in an aqueous solution of glucose with mole fraction = 0.050 at 80oC?

3. When 0.10 g of insulin is dissolved in 0.2000 L of water, the osmotic pressure is 2.30 torr at 20oC.  What is the molar mass of insulin?

4. A 0.124 m CCl3COOH(aq) solution has a freezing point of -0.423oC.  What is the percentage deprotonation of the acid?
